
Serial No.4332 -
Checked By:

     Tech
     Date

Box 1 - RDP150 Wt:  27 lbs.  Dim:  18"x 20"x 12"
Part No. Description Quantity Yes Remarks

1 RDP150-E Color LCD Display 1 *
2 Mounting Knob 2 attached
3 Mounting Bracket 1 "
4 Hard Plastic Cover 1 "
5 000-549-014 Fuse FGBO 15A 3 subSP03-15401
6 000-549-065 Fuse FGBO 10A 3 "
7 100-321-821 Rubber Mounting Cushion 2 subCP03-30902
8 100-328-390 Flush Mounting Sponge 1 "
9 C32-005-04Z Change of Fuse Notice 1
10 OSE-353-90Z Operator's Guide 1
11 IME-353-90Z Installation Manual 1
12 OME-353-90Z Operator's Manual 1
13 000-154-025 Fused 3p 5M Power Cable Assy 1
14 000-863-331 Wing Nut M4 4 subCP03-30901
15 000-864-256 Spring Washer M4 4 "
16 000-864-126 Flat Washer M4 4 "
17 000-802-081 Self-Tapping Screw M5x20 4 "
18 000-147-539 Threaded Rod M4x50 4 "

Box 2 - 000-145-125 Wt:  6 lbs.  Dim:  14"x 12"x 6"
Part No. Description Quantity Yes Remarks

1 000-145-125 FMD Cable 10M w/ Round DJ Conn 1 20, 30M available

* Version 44+ PCB for FMD

rev. 9/19/2006

PACKING LIST FOR FMD8062*

FMD Cable

RDP150

For Internal Use Only

Page 1 of 1


